APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	JOHN FAHRNEY	Page 1 of
Project: RESURF		ENT PULVERIZING, MILLING & PAVING
Contract Number:	RESURFACING 2016 - ASPHALT PAVEMENT PULVERIZING, MILLING & PAVING Payment Number: 7616 Payment Des Series Payment Des Payment: 7000 Payment Payment Des Payment: 7000 Payment Pay	
DO NOT WRITE	E IN THIS BOX - TO BE CO	MPLETED BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE:	5	\$256,625.20
LESS RETAINAGE:	, .	12,831.26
SUBTOTAL:		243,793.94
LESS PREVIOUS PA	YMENTS:	0.00 -
CURRENT PAYMENT	DUE:	\$243,793.94
INSPECTOR'S CERTI The under by this are and that the service of th	FICATE FOR PAYMENT: ersigned Inspector certifies that is explication for payment has been the contractor is entitled to paym OR TIME PERIOD FOR THIS PAYME CONTRACTOR/SUBCONTRACT	to the best of his/her knowledge, the work covered completed in accordance with the contract documents, nent for the amount certified. S O Z O O DATE
NOTE: SIGNED F	PAYMENT REQUEST SHALL BE SU	JBMITTED TO THE ENGINEER/INSPECTOR.

10895-402-170 Pulverize & Pave 10895-402-200 Mill, Pave & Castings 86100-54410 Water

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2016 - ASPHALT PAVEMENT PULVERIZING, MILLING & PAVING CONTRACT NO. 7616
PAYMENT NO. 1

PAYME	NI NO. 1	1	2	3	4	5	6	7	8	9	******** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
10895-4	02-170 Pulverize & Pave												
10701A	TRAFFIC CONTROL - GROUP A	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701B	TRAFFIC CONTROL - GROUP B	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701D	TRAFFIC CONTROL - GROUP D	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701E	TRAFFIC CONTROL - GROUP E	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701F	TRAFFIC CONTROL - GROUP F	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701R	TRAFFIC CONTROL - LOCAL STREET (undistributed)	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701S	TRAFFIC CONTROL - MAJOR STREET, two lanes (undistributed)	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10701T	TRAFFIC CONTROL - MAJOR STREET, more than two lanes (undistributed)	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10720	TRAFFIC CONTROL SIGN - PORTABLE ARROW BOARD	10.00	DAYS	\$50.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	60.00	DAYS	\$125.00	\$7,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911A	MOBILIZATION - GROUP A	1.00	LUMP SUM	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911B	MOBILIZATION - GROUP B	1.00	LUMP SUM	\$250.00	\$250.00		1.00	\$250.00	0.00	\$0.00	1.00	\$250.00	100.0%
10911D	MOBILIZATION - GROUP D	1.00	LUMP SUM	\$250.00	\$250.00		1.00	\$250.00	0.00	\$0.00	1.00	\$250.00	100.0%
10911E	MOBILIZATION - GROUP E	1.00	LUMP SUM	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911F	MOBILIZATION - GROUP F	1.00	LUMP SUM	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911R	MOBILIZATION (undistributed)	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20219	BREAKER RUN	3,446.00	TON	\$9.50	\$32,737.00		163.30	\$1,551.35	0.00	\$0.00	163.30	\$1,551.35	4.7%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2016 - ASPHALT PAVEMENT PULVERIZING, MILLING & PAVING CONTRACT NO. 7616
PAYMENT NO. 1

	ACT NO. 7616 NT NO. 1						I				*****		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21031	INLET PROTECTION, TYPE C - COMPLETE	25.00	EACH	\$150.00	\$3,750.00		20.00	\$3,000.00	0.00	\$0.00	20.00	\$3,000.00	80.0%
40102	CRUSHED AGGREGATE BASE COURSE GRADE NO.2 OR NO.3	500.00	TON	\$9.50	\$4,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT, TYPE E-0.3	5,669.00	TON	\$53.50	\$303,291.50		3,250.00	\$173,875.00	0.00	\$0.00	3,250.00	\$173,875.00	57.3%
40202	HMA PAVEMENT, TYPE E-1	1,986.00	TON	\$51.80	\$102,874.80		429.61	\$22,253.80	0.00	\$0.00	429.61	\$22,253.80	21.6%
40203	HMA PAVEMENT, TYPE E-3	6,198.00	TON	\$49.20	\$304,941.60		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40211	TACK COAT	3,698.00	GAL	\$2.00	\$7,396.00		675.00	\$1,350.00	0.00	\$0.00	675.00	\$1,350.00	18.3%
40231	ASPHALT DRIVE & TERRACE - RESURFACING	314.00	SY	\$40.00	\$12,560.00		34.80	\$1,392.00	0.00	\$0.00	34.80	\$1,392.00	11.1%
40303	WEDGE CUT GRINDING ASPHALT	1,346.00	SY	\$8.00	\$10,768.00		248.50	\$1,988.00	0.00	\$0.00	248.50	\$1,988.00	18.5%
40304	WEDGE CUT GRINDING CONCRETE	200.00	SY	\$15.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40311	PULVERIZE AND SHAPE	34,439.00	SY	\$3.20	\$110,204.80		14,791.00	\$47,331.20	0.00	\$0.00	14,791.00	\$47,331.20	42.9%
40321	UNDERCUT	5,170.00	CY	\$25.50	\$131,835.00		132.70	\$3,383.85	0.00	\$0.00	132.70	\$3,383.85	2.6%
40395	REMOVE CONCRETE UTILITY PATCH	100.00	LF	\$10.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	490.00	L.F.	\$1.00	\$490.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	13,400.00	L.F.	\$0.43	\$5,762.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	160.00	L.F.	\$1.00	\$160.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY,CROSSWALK, 6-INCH	900.00	L.F.	\$5.20	\$4,680.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY,STOP LINE, 24- INCH	130.00	LF	\$6.80	\$884.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60823	PAVEMENT MARKING EPOXY,SYMBOL,BIKE LN	6.00	EACH	\$140.00	\$840.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	2.00	EACH	\$140.00	\$280.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$1,054,804.70			\$256,625.20		\$0.00		\$256,625.20	24.3%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2016 - ASPHALT PAVEMENT PULVERIZING, MILLING & PAVING
CONTRACT NO. 7616
PAYMENT NO. 1

PAYMEN	ACT NO. 7616 IT NO. 1	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	 UNITS	UNIT PRICE	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS		PERCENT COMPLETE
10895-40	02-200 Mill, Pave & Castings												
10701C	TRAFFIC CONTROL - GROUP C	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911C	MOBILIZATION - GROUP C	1.00	LUMP SUM	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21031	INLET PROTECTION, TYPE C - COMPLETE	7.00	EACH	\$150.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40203	HMA PAVEMENT, TYPE E-3	895.00	TON	\$49.20	\$44,034.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40211	TACK COAT	250.00	GAL	\$2.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40301	FULL WIDTH GRINDING	4,971.00	SY	\$2.15	\$10,687.65		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40308	RAMPING SAS	10.00	EA	\$200.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40332	BASE PATCH GRINDING, METHOD 2	1,000.00	SY	\$20.00	\$20,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40333	BASE PATCH GRINDING, METHOD 3	500.00	SY	\$24.00	\$12,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40335	BASE PATCH GRINDING, METHOD 5	500.00	SY	\$28.00	\$14,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40352	ASPHALT BASE PATCHING, 5-8 INCH	100.00	SY	\$60.00	\$6,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40353	ASPHALT BASE PATCHING, 8-10 INCH	100.00	SY	\$85.00	\$8,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	100.00	SY	\$125.00	\$12,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40361	SAS ADJUSTING RING	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	250.00	L.F.	\$1.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	3,800.00	L.F.	\$0.43	\$1,634.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	80.00	L.F.	\$1.00	\$80.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY,CROSSWALK, 6-INCH	90.00	L.F.	\$5.20	\$468.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2016 - ASPHALT PAVEMENT PULVERIZING, MILLING & PAVING CONTRACT NO. 7616

	ACT NO. 7616 NT NO. 1		•	•		_		7			****** #10	44	40
		1 	2	3	4	5	6		8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60818	PAVEMENT MARKING EPOXY,STOP LINE, 24- INCH	60.00	LF	\$6.80	\$408.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60823	PAVEMENT MARKING EPOXY,SYMBOL,BIKE LN	4.00	EACH	\$140.00	\$560.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	1.00	EACH	\$140.00	\$140.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60834	PAVEMENT MARKING EPOXY, WORD, ONLY	1.00	EACH	\$140.00	\$140.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$135,901.65			\$0.00		\$0.00		\$0.00	0.0%
86100-5	4410 Water												
40367	ADJUST VALVE CASTING, METHOD #1 - RESURFACING	20.00	EACH	\$100.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40369	INSTALL ADJUSTABLE VALVE BOX RISER	15.00	EACH	\$150.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$4,250.00			\$0.00	-	\$0.00	-	\$0.00	0.0%
CONTR	ACT TOTALS				\$1,194,956.35		:	\$256,625.20	=	\$0.00	•	\$256,625.20	- 21.5%